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5 ¢« Reactions In Aqueous Solution

1. On the basis of the solubility rules, which of
the following is insoluble?
a) K,0 d) (NHg)2SO4
b) Na,CO3 e) Ba(CiH303)2
(P’ Sulfedn are pOT
St
In ‘a»" Sthiesis "x%%%t%ﬁ',u{onnation of which of
the following does not necessarily lead to a

chemical change?

a) HC;H;0, d) HaS
b) AgCl NaCl
) COy
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Reaction of an acid with a carbonate (such as
CaCO5) always results in the formation of

a) O d) O3

b) Cigiamondy @, €Oz o-a Heo
¢) CHy

4.  Which of the following is incorrect?
a) all salts containing NHy* are soluble.
b) all salts containing NO;~ are soluble.

@all fluorides are soluble. e ed2

d) all sulfates (except those of Ca2, Sr2*, Ba?*,

and Pb?*) are soluble.

¢) most hydroxides are insoluble, except those
of Ca?", Sr2-, Ba?*, the alkali metals and
NH.;‘?'.

5. One of the gases shown below is NOT usually
formed in a metathesis reaction, Which one?

@N, d) NH;
b) CO; e) H3S
c) SO» :

PRACTICE TEST

6. Write the balanced molecular equation for the
reaction of washing soda, Na;COj; and vinegar,
HC,H10s.

Na2COy + Z2H Celaly — o + Cozt

by s 2N CeHsO o
7. The net ionic equation for the above reaction is:

Cos¥ + ZH k3o, — He =Co.

t 2 CzHy O
8. How many moles of H' are associated with the

acid, H,S0;, during neutralization?

20 b1 @2 93
Potbe s are availabl, 1o

RewTild Ll z&.

Ym peed A YRECIPTATE, 9. How many moles AlyO; are needed to

Hao7 -

neutralize | mole of HCI?

Qj;a) Iy d 6 iy ALO
5% 2 ¢) 12 FHLO
c) 2 £ i AL COH )\5

BAL0, + oHE > 2ANCT, +GHO
10. Write the net reaction that will occur when
solid ammonium carbonate is added 0 a

e ——

“solution of hydrosulfuric acid.

(M), COy¢s) * Hed oy O

201" + 5 3¢
11. When H;S0; and Ba(OH); ar¢ reacted in a
Nm%‘%ﬁc‘fhféne of the products of the
reaction 1s...
a) Hp d) BaH,
@HZO e) SOz
¢) Ba$ PaSOy 1S +he ofhor

12. In the metathesis reaction between the weak
acid, HC;H30; and strong base, NaOH, which
ion(s) are spectator ions?

a) Na*, CoH;0,- d) H7, CyH30»
b) Na*, OH~- ¢) /Na* only

c) OH-only

st
e Heals0s + NG o~ > Hao + Bal
r (,L”_J,O(_,



13 Which of the following s a base?
(@) KOH

<) Br& Pd’"

14 Which of the following is a srong acid? {
a) HCO; wesll (d) HCIO; 00f5 -

b)HF  wealc HNO; boo*t,
¢) HsPO, st N U an
- \::s{'

15. Which of the following is an acid in aqueous

solutions? : h;Q
H,CO; d) H0
b) ALO; €)
¢) CHy ;
okl 5 avidse

16, SO tums into which acid in solution?
4) HNO- d s S0
(B) His0; e) HNO, * Ha O

¢) HaSO4 1503
17, What is the oxidation number of C in CO;2-?
a) +6 Q) +1 K+H-D=-2
(By + e -1 ¥eddy
c) +2

18, What is the oxidation number of Br in KBrO4?
a)+l b)) -1 ¢ 45 (@7 o) +8
| 4 X*‘i(*ZB"O X= +7
19. For each change below. label the change of the
underlined element as Oxidation, Reduction, or
Neither

R e =gr +2°96
O CH,»C0: =4 A *+4
R HO,»H0 -l -1

N CO; > HLO: +4 —» +4
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d) CH:OH aleste
b) (:zrlsoq‘ﬂé"‘1 ) COg , A
K 5,341 Jo‘
O

20. How many milliliters of 0,123 M NaOH solution

21.

contain 25.0 g of NaOH (molar mass =~ 40.00
g/mol)?

a) 5.08 mL
b) 50.8 mL (2) 5080 mL
c) 508 mL

If you need 1.00 L of 0,125 M H>S0;, how

would you prepare this solution?

a) Add 950, mL of water 10 50.0 mL of 3.00 M
H,S0;.

b) Add 500, mL of water to 500, mL of 0.500 M
H,;S0;,.

c) Add 750 mL of water to 250 mL of 0.375 M
H,S0;.

d) Dilute 36.0 mL of 1.25 M H,SO4 to a volume
of 1.00 L.
Dilute 20.8 mL of 6.00 M H,SO; to a volume

WL e pags €4S

22, What is the jon concentration i a 0.12 M solution

23,

of BaCh?
a) [Ba*"]=0.12M and [CT]=0.12 M.
b) [Ba®*] = 0.12 M and [CI] = 0,060 M.

()Ba*]=0.12 M and [CI] = 0.24 M.

d) [Ba®"]=0.060 M and [CI'] = 0.060 M.
e) [Ba']=0.12Mand [Ch]=0.12 M.

What is the molarity of the solution that resulis
when 60.0 g NaOH is added to enough water w
make 500. mL solution?

2) 133M d) 80M
b) 120 M e) 1.50M
(Dr00M
See paass <5



24,

25.

26.

27.

28.

What s the molarity of the solution that results
when 45.0 g HCI is dissolved in enough water to
make 250, mL solution?
@94 M d) 1.80M
b) 4.50 M ¢} 146 M
¢} 324 M
What is the concentranion of CF ion in (.60 M
AICK solution?
@ 1.8M d) 030M
b) 0.60 M c) 0LI0OM
c) 0.20M
How many grams of NayCO3 (molar mass =
106.0 g/mol) are required for complete reaction
with 25.0 mL of 0.155 M HNO;?
Na,CO;5 + 2ZHNO; — 2NaNO; + CO, + H,O
a) 0.122g d)y 205¢g
() 0205 ¢ ¢) 205g
c) 0410 g
What volume of 0.150 M NaOH is needed to
react completely with 3.45 g iodine according to
the equation;
3 I+ 6 NaOH — 5 Nal + NalO4 + 3 H,0
(aly 181 mL d) 204mL
b) 453 mL e) 1.02mL
c) 4.08 mL
What is the concentration of an NaOH sofution if it

takes 16.25 mL of a 0.100 M HCI solution to
titrate 25.00 mL of the NaOH solution?

a) 0.0165 M d) 0.100 M

b) 0.151 M ¢) 0413 M

@0.0650 M

29, A 4.00 M solution of HsPOy4 will contain __ g of

H:PO, in 0250 L of solution.

a) 196 g d) 240¢g
@98.0 g e) 120¢g

¢} 49.0 ¢
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